2. B R

1) Bt 190,127.6 m
2) BEw 2,577.9 m
AAE 502. 8mi BRfD 6 2 A
WHERE (X 272 220 8E) 328. 2nf iR 6 2 FEEEM (EEMBFEE
BE A+ A B 160. 5nf BEfn 5 8FEEEE (HEMBEX)
BEAT L B BR 209. 1nd BEFn 5 8 A (EEMBIEE)
FE A+ i, C B8 372. 4nf BBfn6 1 FEEE (HEMBEE)
IR 65. 8nf YRk 4FEEE (EEMBFE)
RIS 18. 2ni BRfn 3 5 FERE
ks Bk - RIPES) 225. 41 YRk 1 3FEERE (EEMBEX)
Bl AR 220,9 nf TRkl 4 FERE (BEMBFE)
fAlEE, B ORE R 156. Ont BEfn 6 3FEEEM (HEMBFE)
y=y: 2 38. 5nf BEFn 5 8 4 R
B 106. 8ui BEFn 6 3 4F R
R 7= 3.3nd R 9 FEEEE
TA—2s VU7 hNEE 9.0nf BEFn 6 2 45 B
Pk B = 23. 2nf TRk 9FEEEE (HEMBIEEX)
A%s#5c5% (E ) 15. 5nf TRk 7 EEEE
A#5eys (F) 6. 911 BEFn 5 7 A E A
RE R (8 5 &) 93. 8nt TRk 3FEEER (EEMHBEE)
KRR RR (S A &) 132. 9t BEFn 4 1 FEEE
IR i E% 7.8m BRFn 5 5 A E A
IR i ax 7.3nt BEFn 5 5 FE B
90 M B E BT 29. 1nd Rk 9FEEEM (£< UBKEE)
f&ERT 8. 0nt BEFn 3 8 FEERE
f&Epr 27.0md BEFn 6 3 4 BEE (i
f&Epr 23.8mi TRk 3R
NAFEFT 6. 611 TRk 9FEEM (£< UBikEE)
3) fFEM (7 9m) 72 b ONIEE Mk
BB (3 50 A 16 H 9222 nf ABFn 5 7 RN (EEMBEE)
HH 7y 1®  43.0n AEFn 5 8 FREEHAf (EEMBIF )
£r B 12/ 5577.6 m
Bl 6m  456.0 nd TRk 9FEEE (EEMBFE)
BAFREM (4 41F) AR 10/ 594 m AEFN 5 7 RN (EEMBIEE)
B 8m 812 mn BEAN 5 6 FEEfE (EEMBIEE)
CH 18 128.1 mi BEAN 6 1R (EEMBFEE)
Bk 4 m 12.1 nf VR 1 4R E (EEMHBFE)
EOKE 3A  BERM56, 57, 6 3FEEEM (EEMHEL)
B BB 1 2 % T4, S5HEEEM (HEMBEE)
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4) FERAERR

S H V)| L=64m 254. Ont TRk O HFEEE (EFEMBEH)
PEA =k 2k =301 282. 0ndf YRR 9 A EE R i (£ UBhpkEZE)
IR 0 ARER M 352.0rd Yo% 9 A RE B A (E<L UBpEZE)
WAL k=3 31.0nf Rk 1 4 FEERME (< UBIREZ)
5) HEAKZE R YR% 9 4 R (EFERHEBNEZ)
Tk 2 91.0nd
S BRI IR R 5 23. 2nd
AR B R e — 5
NE¥a—DLH— —& .
6) NI b a2TT AR TRk 1 4 FEERBE (E< UBIKESE)
WA E Ak L = 4560 m
YRR =3 38.0 mi
F=a A b 2 » B
7) A I ALERRE (BEFEMLLER) —hH TRk 1 6 EEEM (EEMBIFZHE)
8) LN

BHEEIREAR

(BHLSD I 2—27 ABE)

{ BRRER 190.000m
| * B 160,000m |
i HsEE (838 7.500m
i g Bk 2@ 800m !
o | IURY i
ﬂ)l-ln‘?'?b:;-—yi!».lﬂlﬂ(i é 0 R -BER 831m i
T OURFHGHREL T = 3t 225m
FRE IS B DTS R (28) 84m i
sl R || B | mowrm e rezm |
e g RIS \ k| (4m) 242m /
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